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1 25 L BHER FUNDUCE ol 5]ol5]ol5]ols5]ol10[o0]10] 4444 40 6 6 0 -40 1440
2 29 L EAEEL] FUNDUCE ol 5]o0o]l5]o]l5]o]ls5]of]10]o]10] 5062 40 6 6 0 -40 1439
3 38 L b= G FUNDUCE ol 5]o0]l5]o]l5]o]ls5]of10]o0]10] 5940 40 6 6 0 -40 1444
4 21 L o B FUNDUCE ol 5]o0]l5]o]l5]o]ls5[ofl10[o0o]10] 11328 ] 40 6 6 0 -40 1503
5 27 L WTFEKX FUNDUCE ol 5]o0]l5]o]l5]ols[ol10]1]10] 12706 | 40 6 5 1 -39 1436
6 28 L EBEE FUNDUCE ol 5] 1]5]o]l5]ols5s[ol10]7]10] 11762 | 40 6 4 8 -32 1437
7 24 L e AR ER FATERDBF 5 5]l o515 1]5]o0o]10]6][10] 11218 | 40 6 2 13 -27 1457
8 39 L | L ER S FUNDUCE 5] 5[ 1] 5]o]s5]1]5]o]s5]o0o] 5] 10625 [ 30 6 3 7 -23 1457
9 30 L EHEE FUNDUCE 2| 53] 5]o9]l5]2]s5]o]ls5[o0o]s] 21169 ] 30 6 2 16 -14 1502
10 | 22 L EIK FUNDUCE 3| 5] 05|05 ][3]0]o0o][10]o0][10] 5131 35 6 4 33 -2 1440
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1 23 S 3k ] = 48t FUNDUCE ol 5]o0]l5]o[5]o0o]l5]o0]10] 0]10] 3500 40 6 6 0 -40 1441
2 19 S EHEBE LLIEm ol 5] 6] 5]a]l5]o]ls5[o]10[o0]10] 15981 | 40 6 4 10 -30 1445
3 14 S e FUNDUCE 0| 5|/ 0|5|0lo0o|o|5]0o[10[3] 0] 479 25 6 5 30 5 1432

o = = Sec.1 Sec.2 Sec.3 Sec.4 Sec.b Sec.6 S o A 3 =
J[E4E|Car No| 2T & K4 i Seol & [Scol * IScal * [Seal * [Seol * [Seol SS meE (27| 9)—> | Be | BES brdun]
1 18 | VS INEET K shake hip ol 5]ol5]ol5]ols5]1]10[o0]10] 3916 40 6 5 1 -39 1516
2 15 | vs gz SHh—IL ol 5]lo|l5]o]l5[1]5[1]10]o0]10] 4347 40 6 4 2 -38 1458
3 26 | VS EEEM - ol 5[ofls5 15l 1]5]o0]l10] o0]10] 10225 | 40 6 4 2 -38 1527
4 11 VS FFEA shake hip ol 5] 2]5]o]l5][1]5]of]10]o]10] 3753 40 6 4 3 -37 1455
5 20 | vs t3 - 0o/l 5[ 1[5]o0ol5]lo0ol5]o0o]10] 3]10] 3828 40 6 4 4 -36 1504
6 36 | VS EEN FaltrS47)L ol 5 15[ 0[5 [o0o]l5]o0l5] 0]10] 4794 35 6 5 1 -34 1534
7 17 | vs hHEE shake hip ol 53] 5]a]l5]o0o]l5]1]10[o0]10] 12306 [ 40 6 3 8 -32 1456
8 37 | vs LR HIEEEE 0o/ 5[5[5]o0ol5]lol5]6]10] 0]10] 5037 40 6 4 11 -29 1501
9 12 | vs B FHE3E - 5| 5/ 6l 5]l o0o]l5]ols|o|5]o0f10] 10672 35 6 4 11 -24 1512
10| 16 | vs EERE - 2]l 5] 6] 5]o0ol5]0]l5[4]5]0/]10] 4410 35 6 3 12 -23 1526
11 34 | vs HOEXF - 1]l sl 1] 5]o0ofs5][6]lololo] 2]10] 52014 25 6 2 10 -15 1530
12] 35 | vs EREE - 4 | 5[ 7 5]ols5]l6]l5]1]15] 4]10] 4956 35 6 1 22 -13 1535
13] 32 | vs RAKFYREH - ol 5]o0o]5]o]l5]o]s5[3]oflo]s 4621 25 6 5 30 5 1531
14 ] 13 | vs AFS4% - 1]l 53] o0olofls5[1]5]0]lo] 2]10] 5925 25 6 2 34 9 1531
15 | 33 | VS HOZE - 1[5 1|5 1] 51003 o] o]10] 10310 [ 25 5 1 43 18 1532
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